MAT 201 Test 3 - Fali, 2013 Name
100 Points Covers Chapter 4 NO GRAPHING CALCULATORS!!!

There are up to 10 bonus points available. I grade the first 2 bonus problems I come to and ignore the rest. So
be sure to tell me which Bonuses you want to do.

1. (10 pts) Use the limit definition of the definite integral to evaluate J: (Jc2 - Zx)cix .

2. (15 pts) Use the Fundamental Theorem of Calculus (Part II) to evaluate Jj(xz - Zx)dx

B (Bonus 5 pts) What would the x, be if the interval were [1, 3] instead of [0, 31, in Problem #17 I just want to
see the x,. Don’t do any more than that.

ts
26 P
3. @Y Show that L] yidy= Jj(l -y )dx by evaluating each, separately.

'~ (Bonus 5 pts) Draw a picture and explain what’s going on in the previous problem.
4. (10 pts) Evaluate the definite integral. jj |x - 41 dx

B3 (Bonus 5 pts) Evaluate the definite integral ff: }secx tan x|dx

X

5. (10 pts) Evaluate the indefinite integral. It will involve a u-substitution. dx
'f V2x+1
'S‘PL’ . .. sinx
6. H0-ptsy Evaluate the indefinite integral. j s—dx .
cos” x

3
B‘"] (Bonus 5 pts) Find an upper bound and a lower bound for the definite integral J‘] —1~—dx You do not know how
X
to evaluate this integral, using only this semester’s worth of training. But you can put a ceiling and a floor on it.

7. (10 pts) Suppose the velocity (meters per second) of a particle moving in a straight line is
v{t)=—1* +41+5. Tell me what the two integrals represent.

a. J; S (t)ar b. J'O %v(r)fdz-

35" (Bonus 5 pts) Evaluate the 2™ integral in the previous problem: _ﬁv(t)ldt

8. (10 pts) Perform the indicated differentiation:

X 2— g .‘,C3 2-»
d ! 3tdt.Assume£<x<fc. dJ' ki)
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